P& Nextrol™ /| TwinTube™ Pitot Flow Chart
2 NEXUS US GPM @ 60°F, 1.0"- 100" H20

Nominal Schedule 40 Pipe
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PERMANENT PRESSURE LOSS TEMPERATURE CORRECTION FACTOR
HOW TO DETERMINE THE FLOW The approximate total pressure loss 155°F = 1.01 X GPM
1. Enter the chart with the AP (differential pressure) reading. is equal to 10% of the differential 205°F = 1.02 X GPM
2. Go horizontally across to the size of the Nextrol. pressure (AP) reading at the Twin Tube. ACCURACY @ 5 ft/sec or less: +1.00%
3. Go vertically up or down to read the GPM (flow). REPEATABILITY: +0.02%
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